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[Question ID = 1105][Question Description = 200_10_SocialWork_0CT22_Q100]

1.

Both Statemient I and Statement I1 are true

Foa 1 30 076 o 2

[Option ID = 4417]

Both Statement I and Statement 1T are false

w1 @i I 2/ 55T 2

[Option ID = 4418]

Statement [1s true but Statement IT1s false

[Option ID = 4419]

Statement [ is false but Statement II is true

Fua 1 9= 2, 9 a1l o

[Option ID = 4420]

Topic:- 11_GP_SH1_Set1_A

1)

The following table shows the number of students in each of the five classes (A-E) of a school
and the percentage (%) of students in these classes who like to play cricket. tennis, handball
and football. Based on the data in the table. answer the questions. (A student can play

one or more games or no game at all)

Class -wise students participation in sports.

Percentage (%) of students who like
Class | Number of students —— -
| Cricket | Tennis | Handball | Foothall

A | 240 60% 70% 50% 60%
B 280 50% 60% 60% 50%
C 320 40% 65% B5% 45%
D 360 65% 75% 65% 5h%
E 480 T0% 80% 5% 45%




FETeEs T # U e S e wane (A-E) 9 uegs | T R e s 5 SaEnd 8 3
e =1 wfAem (%), T &2, ZFAE, T3 W FEAe @e U898 4 5, WEEiF Al AT R ATRs
F AT W AET 1-5 & I aitav | (o st v we  wfes @ w5 9 g 96 5w a=wa 7)

HHA T AT S 5 9EiEe

. ) THE A T [GEEET T (%)
e | 2Fm | Fzm | TEm
A 240 60% T0% a0% 60%
B 280 50% | B0% 60% a0%
C 320 40% 65% 25% 45%
D 360 65% T5% 65% 55%
E 480 0% 80% TH% 45%

The number of students in the school who like to play cricket is

TFehe Tao THE A T [SETaE ) weE S g e w
[Question ID = 1506][Question Description = 101_00_General_27_0CT22_Q01]
1. 872
[Option ID = 6021]
2. 864
[Option ID = 6022]
3. g8z

[Option ID = 6023]
4. 1022

[Option ID = 6024]

2) The following table shows the number of students in each of the five classes (A-E) of a school

and the percentage (%) of students in these classez who like to play cricket. tennis. handball
and football. Based on the data 1n the table. answer the questions. (A student can play
one or more games or no game at all)

Class -wise students participation in sports,

Percentage (%) of students who like

Class | Number of students -
_Clicket Tennis | Handball | Foothall

A 240 60% | 0% | 50% 60%
B | 280 50% | 60% | 60% 50%
c 320 | 40% | 65% | 55% 45%
D 360 65% | 5% | 65% 55%
E 480 0% | 80% | 75% 45%




FETeEs T # U e S e wane (A-E) 9 uegs | T R e s 5 SaEnd 8 3
e =1 wfAem (%), T &2, ZFAE, T3 W FEAe @e U898 4 5, WEEiF Al AT R ATRs
F AT W AET 1-5 & I aitav | (o st v we  wfes @ w5 9 g 96 5w a=wa 7)

HHA T AT S 5 9EiEe

TEE T T et w1 e (%)
A 240 60% | T0% 20% 60%
B 280 0% | 60% 60% a0%
c 320 40% | 65% 25% 45%
D 360 65% | T5% 63% 5b%
E 480 70% | B0% 5% 45%
The number of students who like to play Tenmnis in Class A 1s ——— % less than those

who like to play Handhall in Class E.

FET A T THE TEE] TEE H A EEmeE T wer B E RmeTe el THE S T At
e | T afaee (%) T

[Question ID = 1507][Question Description = 102_00_General_27_0CT22_Q02]
1. 40

[Option ID = 6025]
2. 50

[Option ID = 6026]
3. 53.33

[Option ID = 6027]
4. 56.67

[Option ID = 6028]

3 The following table shows the number of students in each of the five classes (A-E) of a school
and the percentage (%) of students in these classez who like to play cricket, tennis, handball
and football. Based on the data in the table. answer the questions. (A student can play
Ome ar more games or no game at all)

Class -wise students participation in sports,

Percentage (%) of students who like
Class | Number of students —— =
| Cricket | Tenmis | Handball | Football

A 240 60% 70% 50% 60%
B 280 50% 60% 60% 50%
c 320 | 40% | 65% 55% 45%
D 360 65% 75% 65% 556%
E 480 70% 80% 5% 45%




FETeEs T # U e S e wane (A-E) 9 uegs | T R e s 5 SaEnd 8 3
e =1 wfAem (%), T &2, ZFAE, T3 W FEAe @e U898 4 5, WEEiF Al AT R ATRs
F AT W AET 1-5 & I aitav | (o st v we  wfes @ w5 9 g 96 5w a=wa 7)

HHA T AT S 5 9EiEe

. ) THE A T [GEEET T (%)
e | 2Fm | Fzm | TEm
A 240 60% T0% a0% 60%
B 280 50% | B0% 60% a0%
C 320 40% 65% 25% 45%
D 360 65% T5% 65% 55%
E 480 0% 80% TH% 45%

The ratio of the number of students who like to play ericket in Class B to that of the number
of students who like to play Football in Class C is

Feql B # TEee @er WHE W AT [Ganiddl i weEr w1 S e C H e we TEE F6E an
[Question ID = 1508][Question Description = 103_00_General_27_0CT22_Q03]
1. 36:35
[Option ID = 6029]
2. 31:36
[Option ID = 6030]
3. 35:37
[Option ID = 6031]

4. 35:36

[Option ID = 6032]

4) The following table shows the number of students in each of the five classes (A-E) of a school

and the percentage (%) of students in these classes who like to play cricket. tennis, handball
and football. Based on the data in the table. answer the questions. (A student can play
one or more games or no game at all)

Class -wise students participation in sports.

Percentage (%) of students who like

Class | Number of students -
_C]:icket Tennis | Handball | Foothall

A 240 60% | 7T0% | 50% 60%
B | 280 50% | 60% 60% 50%
c 320 | 40% | 65% | 5% 45%
D 360 65% | 5% | 65% 55%
E 480 70% | 80% 75% 45%




FETeEs T # U e S e wane (A-E) 9 uegs | T R e s 5 SaEnd 8 3
e =1 wfAem (%), T &2, ZFAE, T3 W FEAe @e U898 4 5, WEEiF Al AT R ATRs
F AT W AET 1-5 & I aitav | (o st v we  wfes @ w5 9 g 96 5w a=wa 7)

HHA T AT S 5 9EiEe

. ) THE A T [GEEET T (%)
e | 2Fm | Fzm | TEm
A 240 60% T0% a0% 60%
B 280 50% | B0% 60% a0%
C 320 40% 65% 25% 45%
D 360 65% T5% 65% 55%
E 480 0% 80% TH% 45%

If M is the number of classes in which more than 180 students like to play handball, then M =

T2 M =9 T2l #7961 2 399 180 O afaw fend] 229 oo g9z 5| 2, @1 M=

[Question ID = 1509][Question Description = 104_00_General_27_0CT22_Q04]
1. 9

¥
[Option ID = 6033]

2. 3
[Option ID = 6034]

3. 1

[Option ID = 6035]
4.0

[Option ID = 6036]
5 The following table shows the number of students in each of the five classes (A-E) of a school
and the percentage (%) of students in these classez who like to play cricket. tennis, handball

and football. Based on the data in the table. answer the questions. (A student can play
one oF more games or no game at all)

Class -wise students participation in sports,

Percentage (%) of students who like

Class | Number of students —— =
| Cricket | Tenmis | Handball | Football

A 240 60% | T0% | 50% 60%
B | 280 50% | 60% | 60% 50%
c 320 | 40% | 65% | 55% 45%
D 360 65% | 5% | 65% 55%
E 480 0% | 80% | 75% 45%




et aifer 7w faamwm i o= e (ACE) 9 wogs | faatdar S e o 5 S 0 3
e =1 wfAem (%), T &2, ZFAE, T3 W FEAe @e U898 4 5, WEEiF Al AT R ATRs
F AT W AET 1-5 & I aitav | (o st v we  wfes @ w5 9 g 96 5w a=wa 7)

AT E FE-TIW HETdE 1 qriEn]

e ) UHE i A ST o e (%)
fre | 2w | Fzam | TEam
A 240 60% T0% a0% 60%
B 280 50% | B0% 60% a0%
C 320 40% | 65% 25% 45%
D 360 65% T5% 65% 55%
E 480 0% 80% TH% 45%

The maximum percentage of studentzs in Class A who do not like to play any of the given four
games can be

ot O W e - 11T e o M 12 ot B ot o e T M e P i o B B 1 B e [ == e - e e B e o
[Question ID = 1510][Question Description = 105_00_General_27_0CT22_Q05]
1. 40%

[Option ID = 6037]
2. 10%

[Option ID = 6038]
3. B0%

[Option ID = 6039]
4. 30%

[Option ID = 6040]

Topic:- 11_GP_SH1_Set1_B
D Which of the following is outside the perview of characteristics of learning?

eTaTEs § Fi ST 0 Eerame i uita % e 96 am e ?
[Question ID = 1511][Question Description = 106_00_General_27_0CT22_Q06]
- Learning is a life long process

[Option ID = 6041]
2. Learning is a temporary change in behaviour

AP R H UF SR giteT 7

[Option ID = 6042]

3. Learning is prompted by individual needs

ArTe FafgaE SETgEaren 4 9 w2 2l

[Option ID = 6043]
4. Learning is transferable



AT FEATE AT £

[Option ID = 6044]

2)  Which of the following operations comes under the pre-active phase of teaching according to

Philip. W. Jackson?
e M M ke Bl 12 O B el e B e e o o B2 =2 e o o e e s e

[Question ID = 1512][Question Description = 107_00_General_27_0CT22_Q07]

1. Diagnosis of the learners

[Option ID = 6045]
2. Decision about the strategies

[Option ID = 6046]
3. Aetions and reactions

[Option ID = 6047]
Selecting appropriate testing devices

ITIEE A g =

[Option ID = 6048]

3) Given below are two statements ;

Statement I : In synchronous mode, both teacher and learners are present at the
same time,
Statement II :  Tutors in online spaces do not have the opportunity to show partiality

and steadfastness towards knowledge.

In the light of the above statements. choose the most appropriate answer from the options
given below :

49 B F5 feu Mo E

Fug 1:  waFTes e 5, Fes va wfeme 5 v @ mme W e e A

Fo I1:  wAeA 9gEl B SHOEH (Z20) F 99 TH F UG 16T 97 geama Tee w1 s T4

=1
ST F4H F AR °, 4= B I FeT § 1 g9 39T I F1 9499 S

[Question ID = 1513][Question Description = 108_00_General_27_0CT22_Q08]
1. Both Statement I and Statement II are correct

FuF I 4w Il aF 981 &

[Option ID = 6049]
2. Both Statement I and Statement I1 are incorrect



T 1 A7 I =39 774 7
[Option ID = 6050]
Statement I 1s correct but Statement II 1= incorrect
Fom 1981 2, Tired e e 7
[Option ID = 6051]
Statement I is incorrect but Statement IT 13 correct
Fo 790 &, oerd e [IaE

[Option ID = 6052]

4) Arrange the following five elements of ‘Pedagogy’ given by Herbert

(A) Generalization
(B) Association

(C) Presentation
(D) Application

(E) Preparation

Choose the correct answer from the options given below :

EC A T I et e 1 P e o e O e o e T o | 1 M2 1 0 e

(A) AT
(B) ar=d

(C)  gaArFm
(D) A
(E) =

Hr= B0 0 fEeT § O TR 3 o =99 S
[Question ID = 1514][Question Description = 109_00_General_27_0CT22_Q09]
1. (E), (D, (B), (A), (C)

[Option ID = 6053]
2. (E), (Q), (B), (A). (D)

[Option ID = 6054]
3. (C). (E). (B). (D). (&)

[Option ID = 6055]
4 (B), (D). (E), (C), (A)

[Option ID = 6056]



%) Match List I with List IT :
List I
(Learner attributes)
(A) Problem-solving
(B) Creative thinking

(C) Critical thinking

(D) Declsion making

List IT
(Meaning)

(I} The ahility to reflect upon the meaning
and analysing the facts

(IT) The ability to address a problem for
successful outcome

(ITI) The ability to look at things differently
and find new ways of solving problems

(IV) The ability to seleet a course of action
which would lead to desired outcome

Choose the correct answer from the options given below :

-1 g AT 7 e i

=11
(st fas)
(A) #EFAT — TEEE

(B) #HH o T
(C) wErEATR o

(D) o=

=11l
(=)
M) e A fim i 5 gEe s e

1 e L O 2 L= = = o e L 0 D e 3 1 LA

[Question ID = 1515][Question Description = 110_00_General_27_0CT22_Q10]

T (A)-(ID). (B)-(III). (C)-(T). (D)-«(IV)

[Option ID = 6057]

2. (A)HIV), (B)-(ID), (O)-(D). (D)-(1IT)

[Option ID = 6058]

3. (A, (B)-(I). (C)-(IV), (D)-(11D)

[Option ID = 6059]

4 (A-IV). (B)-(IID). (C)-(I). (D)~(IT)

[Option ID = 6060]

6) Coding paradigm is extensively used in

ol o o

efefigs § @ foFad Fifs aiagE =1 3990 T =9 | f=r amr 27

[Question ID = 1516][Question Description = 111_00_General_27_0CT22_Q11]

1. Language analysis
Ty AT

[Option ID = 6061]
2. Conversational analysis



[Option ID = 6062]
3. Grounded theory research

AT g A

[Option ID = 6063]
4. Covert cbservation

TH TE

[Option ID = 6064]

7} The analytic - induction strategy is a method of
Terd — Are FEAI AT § | e Ty 7

[Question ID = 1517][Question Description = 112_00_General_27_0CT22_Q12]
1. Quantitative analysis

gl e
[Option ID = 6065]
2. Qualitative analysis
[Option ID = 6066]
3. Field ohservation
CERE
[Option ID = 6067]
4. Participatory analvsis
[Option ID = 6068]
8)
Which of the following are included in the positivist paradigm of research?

(A) Quantification

(B) Construction of hypotheses
(C) Use of objective measures
(D) Subjective analysis

(E) Rejection of theories

Choose the correct answer from the options given below :
frafangs § 3 7 9 9 F TEadn] TeeE § oee £ 7
(A)  HFEEiFT
(B)  gfFegAT w5 AR
(C) == J1= =1 33
D) AT ETE

4= fzu o fasedt 3 U8 I F 99 Fian



[Question ID = 1518][Question Description = 113_00_General_27_0CT22_Q13]
1. (A). (B). (C) only

=== (A). (B). (C)

[Option ID = 6069]
2. (B). (C). (D) only

a1 (B). (©). (D)

[Option ID = 6070]
3. (C). (D). (E) only

et (0). (D). (E)

[Option ID = 6071]
4. (A). (D), (E) only

Fa (A). (D). (E)

[Option ID = 6072]

9) Given below are two statements : One is labelled as Assertion A and the other is labelled as
Rea=zon R.

Assertion (A) : Experimenter's bias is a real issue at different phases of research.

Rea=on (R) : A researcher can influence the results of a study by mistakes in ohservation

and data entry. either intentionally or otherwise.

In the light of the above statements. choose the most appropriate answer from the options

given below :

31 FY9F 50 T F o vE AHEAE (Assertion (A)) F ¥9 ® TWhEa 2 A1 297 369F F00 (Reason (R)

FETH ;

wafirEgs (A) : e & fafaer =w T 5=l 1 YA T anias 9ae 2|

F (R) : Tl WAV HE SRS ] WAL § A 3 =] AT F R A9E ®
TIOTHT 1 TEIEE g A

T FUE F T T, 9= B w e 1 19 wes 39aw o w99 Fan

[Question ID = 1519][Question Description = 114_00_General_27_0CT22_Q14]
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 5 (R 21 571 7 310 (R), (A) F1 #7Ff =

[Option ID = 6073]
2. Bath (A) and (R) are correct but (R) 12 NOT the correct explanation of (A)

(&) 3 (B) B w91 7, <1 (R). (A) 1w zamean o 7

[Option ID = 6074]
3. (A)is correct but (R) is not correct



(A) =51 7, R4 (R) 551 451 7

[Option ID = 6075]
4. {A) 12 not correct but (R) is correct

(A) T 7 2, A (R) 7T 2
[Option ID = 6076]

10) Given below are two statements :

Statement I : A discrete variable can represent only finite set of values.

Statement IT : A continuous variable can be broken into subparts including fractions.

In the light of the above statements. choose the correct answer firom the options given below :
9 21 T o

FU9 1:  AEFT =7 Hae GHT F THEA TE=F F 590 O5d B

F99 IT: Tad =7 =1 97 994 399 § 199 =] 7 o9 2

TR FUT F A 8, T S0 T T § I OE 39 =9 R

[Question ID = 1520][Question Description = 115_00_General_27_0CT22_Q15]
. Both Statement T and Statement IT are true

Fe 1 a7 I = 709 =

[Option ID = 6077]
2. Both Statement I and Statement IT are false

Foa 137 I =1 55 7

[Option ID = 6078]
3. Statement I is true but Statement IT is falze

w97 1979 7, =T #9011 550 &
[Option ID = 6079]

4. Statement I is false but Statement II is true

Fort 1 916905 7, =5t =97 [[99 7
[Option ID = 6080]

) In two-step flow of communication, messages pass through

(A) Mass Media
(B) Opinion leaders
() Bureaucracy

D) Spiritual leaders

Choose the correct answer from the options given below :



YA F Z-HME] UER 7 He9 HEiHE 3 7 R §
(B)  wraaa s

(C) e

(D)  wmEATeRE TEA

4= Tou 7w faFedl § O e 300 & =99 FiEm

[Question ID = 1521][Question Description = 116_00_General_27_0CT22_Q16]
1. (A) and (B)

(A) ¥ (B)

[Option ID = 6081]
2. (B)and(C)

(B) ¥ (C)

[Option ID = 6082]
3. (C) and (D)

(C) #=1 (D)
[Option ID = 6083]

4. (A) and (C)

(&) #1 (O)
[Option ID = 6084]

12) The real basis of communieation is

T ] TSR ST R

[Question ID = 1522][Question Description = 117_00_General_27_0CT22_Q17]
1. Peer pressure
HEHAE — 291

[Option ID = 6085]

Personal ambition

AAFTF OEraTEIA]

[Option ID = 6086]
3. Common experience

SILI R R

[Option ID = 6087]
4. Desire for divergence

[Option ID = 6088]



13 3 "
) What are the key features of transactional model of commumeation?

(A) Absence of noise

(B) Extensively used in interpersonal communication
(C) Feedback is a new message

(D) Role exchange by encoder and decoder

(E) Encoder and decoder discrimination is the order

Choose the correct answer from the options given below :

(A) TFETEA HAYE

(B) A SAEaF TUGN § 9E 7 9 T

(C) wfeyf= v F31 #27r 2

(D) Tz AeGT 3 F g T F AR -
(E) ¥z wg# 7 [age% #1 fangs wins sga 3

dr e A 8 O O I gEs Fian

[Question ID = 1523][Question Description = 118_00_General_27_0CT22_Q18]
T (A). (B). (C) only

F97 (A), (B). (C)

[Option ID = 6089]
2. (B). (O). (D) enly

Fa4 (B), (C), (D)

[Option ID = 6090]
3. (C), (D). (E) only

7% (C), (D). (E)

[Option ID = 6091]
4. (A), (D). (E) only

a4 (A). (D). (E)

[Option ID = 6092]

14) Given below are two statements ;

Statement I : The transmission view of communication 1z both hegemonic and
mechanistic.
Statement I1 : The ritualistic view of communication emphasises the factors of

commonality. communion and fraternity.

In the light of the above statements. choose the correct answer from the options given below :



d= F wE fEn T ®

FU L HER AW S i afagese S 91t 2 e R

Fug [1:  H=W % TWAiE g 3 amEan, s 390 890 S5 9296 W 89 (5 S 2
A T T 2o e e = T 5 8 il 1o e s e B i e e 1 - e L

[Question ID = 1524][Question Description = 119_00_General_27_0CT22_Q19]
. Both Statement I and Statement IT are true

F93 I A0 [[ A1 @75 7

[Option ID = 6093]
2. Bath Statement I and Statement IT are false

%97 | ¥R O e #3907

[Option ID = 6094]
3. StatementIis true but Statement IT is false

F9q 1079 2. @ #9911 550 =
[Option ID = 6095]
4. Statement I is false but Statement II 1s true
T I 5003 7, i #yA L o097

[Option ID = 6096]

15) The sequence of zones 1n kinesics is

(A) Personal
(B) Intimate
(C) Public
(D) Social

Choose the correct answer from the options given below :

TS A T OATEE B

®) ==
(C) #AEFEF
(D) =

Hra fEu o famea 0 0 oE I = S
[Question ID = 1525][Question Description = 120_00_General_27_0CT22_Q20]

1 (A), (B), (O). (D)

[Option _ID = 6097]
2. (B), (C). (D), (&)

[Option ID = 6098]
3.(C), (D), (A). (B



[Option ID = 6099]
4 (B). (A). (D), (C)

[Option ID = 6100]
16) A group consists of 3 males. 3 females and 5 children: The average age of the males is 50
years, that of females iz 45 years and that of children iz 10 years. What iz approximate
average age of the group?
U Hgz 5EE 3 99, 3 OfEAn v9 5 = 2| 9FW Sl Wi 9 S0 39 7, Al i AEa 96 45 94 7
vg == 1 WET 9 10 T 3| YR F 0O STET A T 6
[Question ID = 1526][Question Description = 121_00_General_27_0CT22_Q21]
1. 32.5

[Option ID = 6101]
2. 30.45

[Option ID = 6102]
3. 2845

[Option ID = 6103]
4. 3145

[Option ID = 6104]

17)  Find the next number in the series given below :

7,10, 15, 22, 33, 46, 7
= &1 el g B st e T S

7,10, 15, 22, 33, 46. 7

[Question ID = 1527][Question Description = 122_00_General_27_0CT22_Q22]
1. 61

[Option ID = 6105]
2. a8

[Option ID = 6106]

3. /5

[Option ID = 6107]
4. 63

[Option ID = 6108]

18) The daily income of three persons A, B and C 1sin the ratic of 2 : 5: 11 and the income of B 1s
Rsz. 291 more than that of A. Find the income of C

#f5 wfFar A, Bwg C =1 Wiatsa #il 574 2:5:11 F 379 § % v3 B 91 373 A i 979 § 291 790 w@faw
# C =R w/= T i

[Question ID = 1528][Question Description = 123_00_General_27_0CT22_Q23]
1. Rs. 679
679 FIT

[Option ID = 6109]
2. Rs 1.748



1,746 300
[Option ID = 6110]

3. Rs. 1.067

1,067 90

[Option ID = 6111]
4. Rs. 1.256

1,256 00

[Option ID = 6112]

19) Two numbers are. respectively. 28% and 25% less than a third number. What percent is the

first number of the second number?

-

=1 FIEET S T O FE 28% 37 25% FH 2| TEeh T 380 @ F e e A7
[Question ID = 1529][Question Description = 124_00_General_27_0CT22_Q24]
1. 104.16%

[Option ID = 6113]
2 90%

[Option ID = 6114]
3. 92%

[Option ID = 6115]
4. 96%

[Option ID = 6116]

20) A dealer sold three-forth (3/4%®) of his articles at a gain of 20% and the remaining articles at
the cost price. Find the gain earned by him in the whole transaction.

UF famar 3 A T F 34 9T i 20% ATS A= ST AT Tl W A el W (53 7E
2 T I9F gE ATST Tl T AT ] TS —a9E e 2 ¢

[Question ID = 1530][Question Description = 125_00_General_27_0CT22_Q25]

1. 20%

[Option ID = 6117]

2. 18%
[Option ID = 6118]
3. 16%

[Option ID = 6119]
4. 15%

[Option ID = 6120]

21 . : g ; : A Bl »
) “T think you will find that this bail out is the best option before our orgamzation. especially

because disagreement may indicate that this company is not the right place for vou™ Which
informal fallacy 12 committed in the above argument?



“F A=A E TR AT T 5 9 3 FGW A0S e F a4 Fams e @eed 7, T 9 =9 9 36
FAUEY 7 FIF A9H FEREG A 7 R 7 AT 2 7 98 FA A9 90 39 T9E 6 20T

IT4FA IfF H FH = S T AN Hieied ©

[Question ID = 1531][Question Description = 126_00_General_27_0CT22_Q26]
. False alternative

TR Taeneg

[Option ID = 6121]
2. Circular argument

[Option ID = 6122]
3. Appeal to force

[Option ID = 6123]
4. Appeal to inappropriate authority

[Option ID = 6124]

22) Which of the following statements are contraries?

(A) All men are mortal
(B) Some men are mortal
(C) Some men are not mortal

(D) No men are mortal

Choose the most appropriate answer from the options given below :
Fifra § O F O w9 faaimds 51
(&) T Y
B) T3 T 7
(©) F3 759 99 7 74 7l
(D) 1= f = v T AW A
= fou 0 foeTt B 9 Te SugE I F 99 A

[Question ID = 1532][Question Description = 127_00_General_27_0CT22_Q27]
1. (A) and (C) only

Fae (A) J7 (C)

[Option ID = 6125]
2. (B) and (C) only

3+ (B) 37 (C)

[Option ID = 6126]
3. (B) and (D) only



Fa (B) =7 (D)

[Option ID = 6127]
4. (A) and (D) only

Fa (A) 37 (D)

[Option ID = 6128]

23) Which of the following statements are logically equivalent?

(A) Some animals are birds.

(B) Some birds are animals.

(C)  Some animals are not non-birds.

(D) Some animals are non-birds.

(E) Some non-birds are not non-animals.

Choose the most appropriate answer from the options given below :

TR J 5 F | T A g0 J 90E A

(A) Tz T 9 FE A

(B) = 9ET 99 A A

(C) = w9 -9 75 7 R

(D) T T W A R

(B) 3 f-uaft - 75 719 7

e faw T foreut | W wEE ITEEE I H =9 i

[Question ID = 1533][Question Description = 128_00_General_27_0CT22_Q28]
- (A), (B) and (C) only

a3 (A). (B) =1 (C)

[Option ID = 6129]
2. (A), (C) and (D) only

a4 (A), (C) @7 (D)

[Option ID = 6130]
3. (B) and (C) only

= (B) T (C)

[Option ID = 6131]
4. (B). (C). (D) and (E) only

Fa (B). (C). (D) 57 (E)

[Option ID = 6132]



24) Given below are two statements :

Statement I :  According to classical Indian School of Logic inference for oneself is
called Svartha Anumana.
Statement IT :  Svartha Anuména is a syllogism and has to be presented in language.

In the light of the above statements, choose the correct answer from the options given below :

s fgr R

FHL:  AF % AEGE AEAE AE F AR = F 60 SEAE =Y 99E weend 2|

FoA IL: =09 SFHAF =09 T 7 AT T8 9T S W A qE R f

I A ORI 5, A R e O wE 3 T =99 e

[Question ID = 1534][Question Description = 129_00_General_27_0CT22_Q29]
1. Both Statement I and Statement II are true

woa [ o I 2 weg 7

[Option ID = 6133]
2. Both Statement I and Statement IT are false

For I a7 I 3A1 3799 7
[Option ID = 6134]

3. Statement I1is true but Statement II is false
Fuq 1593 &, =i 7o 11 90 &

[Option ID = 6135]
4. Statement I is false but Statement IT is true

F99 1 37979 2, =i o5 [T oed 2
[Option ID = 6136]
25) According to classical Indian School of Logie which of the following steps of inference involve
application of the universal concommitance to the present case?

{A)  This hill has fire

(B) Because it has smoke

(C) Whatever has smoke has fire, e.g. an oven

(D)  This hill has smoke which 1s invariably associated with fire
(E) Therefore the hill has fire

Choose the most appropriate answer from the eptions given below :



qF F qUAM A 97 F SHEE F99F R (FE G9E § SA9F T 5 o gEdies geEha
(A) THTEE A A 7

(B} Hﬂ%mqm?l

(D) =5 =TS ° A 7 A7 Fwnes o | "wana 7

(E)  sfem 9g18i § A 7

Jr fau e faeat 0 O 0eE 39EEE I F 999 hian

[Question ID = 1535][Question Description = 130_00_General_27_0CT22_Q30]
1. (C)and (E) only

Fae (C) 97 (E)

[Option ID = 6137]
2. (B)and (C) only

Fa=1 (B) 517 (C)

[Option ID = 6138]
3. (C)only

Fa (C)

[Option ID = 6139]
4. (D) only

Faet (D)

[Option ID = 6140]

26) Suppose that the class grade for a six-week period is based on three tests (T1, Tz. T:). each of
which counts for 15%, four quizzes (@i, Q2 Q3. Q4), each of which counts for 10%. and a
homework note book (HW), which counts for 15%. The grades are recorded in a spreadsheet
similar to the one below.

| | A |B|c|D|E|F|G |H|I | J
|1 | Name |Ty | T2 | Ts Q| Q  Q | Q|HW|AVG
|2 | Jatin |87 |92 |80 |76 |79 87 | 74| 90
|3 | Amit |91 (85|77 78|88 | 96 |90 | 92
|4 |Anil |65 |72 70|80 81| 74 |77 80

5 | Anita |96 |88 |91 |76 |91 |100 | 74 | 98

Which of the following formulae would NOT be a correct calculation of the six-week weighted
average for Jatin?



T wian o uF 6 gEmE-say F o Fan (wvh) O3 9 ghem (T, Ta. Ta) 598 3 w995 15% 74
Ui &, I geAed il () (Qu Q. Q. Qu), TiEH T weEw 10% 7 I 7, 3% OF TEEE, 1
15% T UieRio 519 W aaTRE 2| afrat (dse) Feen T gae e oresie g we oo )

A B|C|D|E|F|G H| I J
1/ T T ||| @ q|HW|Ave

9 |=fm |87 |92 |80 |76 |79 | 87 | 74| 90
SZ'HFH?T|91 85 |77 |78 |88 | 96 | 90 | 92
4|4 (65|72 |70 |80 (81| 74 77| so
5 | | 96 | 88 |91 | 76 | 91 | 100 | 74 | o8

[t 1 R e = - S 1o B i B = =1 e 7 e = B T M o

[Question ID = 1536][Question Description = 131_00_General_27_0CT22_Q31]
1. =B2+015+C2%0.156+D2+0.15+ E2+01+F2+0.1+G2+0.1+H2+01+120.15

[Option ID = 6141]
2. =(B2+C2+D2+12)*015+(E2+F2+G2-H2)+0.1

[Option ID = 6142]
3. —((B2+C2+D2+12)=1.5+(E2+F2+ G2+ H2))/10

[Option ID = 6143]
4. =(B2+02+D2+I2)/15+(E2+- F2+ G2+ H2)/10

[Option ID = 6144]

27)  Which of the following devices from the list A — E given below are output deviees only?

(A) Blu-Ray disc

(B) Buzzer
(C) Web-Cam
(D) 858D

(E) Laser printer

Choose the correct answer from the options given below :

A3 & Wi A 9 E 7% #1 g=r 8 7 efehas se-h g sae smeege (fria) gfamar 87

(&) =7 7=F
(B) B

(C) =8Fm
D) THTAE

(Ey & m
#= feu o foaeat © § TE 500 1 =99 Fien

[Question ID = 1537][Question Description = 132_00_General_27_0CT22_Q32]
1. (B) and (E) only
37 (B) 311 (E)

[Option ID = 6145]
2. (A} and (D) only



FaeT (A) 57 (D)

[Option ID = 6146]
3. {C) and (E) only

Fa= (C) 57 (E)

[Option ID = 6147]
4. (E) only

Fa (E)

[Option ID = 6148]

28) Match List T with List II :
ListI List IT
(Computer Term) {Description)
(A) Awvithmetic and Logic unit (ALTU) (I) Stores part of the operating system
currently in use
(B) Control Umt (CU) (IT) Carries out operations such as AND,
OR. NOT
(C) Random Access Memory (RAM) (II) Stores bootstrap loader and BIOS
(D) Read Only Memory (ROM) (IV) Fetches and manages execution of
each Instruction in turn
Choose the correct answer from the options given below :
T L | G-I e =i
Gt I
(Foger 92) (77)

o

(A) FEEFTEEAE g2 (T E) (D FAW § W W W w A
=g = uE F e =7 A

(B) =wEE 7 (3 ) () AND. OR. NOT 3 e
TR ST 2

(©) TvEH THEH AT (T T ) @) wm s w A s oA o oA
TuTEd FAT 7

(D) Tz A= THE (97 A7 ) (IV) WEF FEET F IeeY W 7 H0 W

T ST A F a

¥ 5 T el § O TR 39 T =599 A
[Question ID = 1538][Question Description = 133_00_General_27_0CT22_Q33]
1 (A)-(IV), (B)-(IIL), (C)-(II), (D)-(T)

[Option ID = 6149]

2. (A)-ID). (B)-AV), (O)-(D), (D)-dT)
[Option ID = 6150]

3 (A)-ID), (B)-(IV). (C)-(D. (D)(IID)
[Option ID = 6151]

4. (A)-ID. (B)-(D). (O)-(IV), (D)-(TD

[Option ID = 6152]



29)  Consider the following email fields in email software :

To : Ravi@gmail.com

Cc : Rajan@gmail.com. Raj@gmail.com

Bee : Rakesh@gmail.com

Which recipient(s) 1s/are able to see all the other recipients?

-0 Aifadt § Hefeign 5-90 49 Fies W faen Fien

To : Ravi@gmail.com

Ce : Rajan@gmail.com, Raj@gmail.com

Bee : Rakesh@gmail.com

(RLaiE Tl O e Ve 11011 o e s B e 6 | = e e i = 3 BV

[Question ID = 1539][Question Description = 134_00_General_27_0CT22_Q34]
1. Rajan, Raj and Rakesh

[Option ID = 6153]

2 Ravi

LiE

[Option ID = 6154]
3. Rajan and Raj

[Option ID = 6155]
4. Rakesh

i-l

[Option ID = 6156]
30) Given below are two statements ahout online search :

Statement T :  Google search results return the same information to anyone who enters

the same keywords.

Statement 1T :  Search engines are gathering vast amounts of information about our
searches and ourselves.

In the Iight of the above statements, choose the correct answer from the options given below :
e 21 e fam e E
AT e & 90 9
FH1: T HE Az § ] S g THE TR (F 98) # 1= 9 96 ged 6 w6 A
FR I = 3 (o 55E) 7 @i o soE = F AW § g9 % 95 53R F UES 9 O A
e T E R T S TR e M | B A L = e e e Rz P i e 0 B DL 0 L

[Question ID = 1540][Question Description = 135_00_General_27_0CT22_Q35]



Both Statement I and Statement IT are frue

Fuq I+ [L3H o9 7

[Option ID = 6157]

Both Statement I and Statement 1T are false

Fu7 [ a7 129 5159 7

[Option ID = 6158]

Statement I iz true but Statement IT is false

F99 [ 9e9 &, #ie F94 Il 597 2

[Option ID = 6159]

Statement I is false but Statement IT 1= true

g T oaey 2. At 9 T oeg 7

[Option ID = 6160]

31) Organochlorine pesticides such as DDT's human toxicity is comparatively lower. It is their
impact on food chain that leads to acute human toxicity. Their properties that cause them to

be impactful on food chain are
{A) Persistence

(B) Insolubility

(C)  Solubility

D) Polarity

Choose the most appropriate answer from the options given below :

Bt e B [ e 1 e e e i = B e s e 2 e B e 0 Lt e o | R R
T AT W2 WAl 2] 39 UH w0 0 E A 35 R0 49 W gHEy 89 # -

(A) Hldedq

B)  FIETEIEA]

(C) HefA=eTdr

(D)  gaFm

= T2 T TeRe § W WA ST S R I SR

[Question ID = 1541][Question Description = 136_00_General_27_0CT22_Q36]
1. {A) and (B) only

T (A) T (B)

[Option ID = 6161]
2. (A)and (C)only

Fae (A) 37 (C)

[Option ID = 6162]
3. (A), (B) and (D) only

Fae (A), (B) 51 (D)

[Option ID = 6163]
4. (A). (C) and (D) only



Fad (A), (C) =7 (D)

[Option ID = 6164]

32) Which of the following are responsible for global cooling?

(A) Halocarbons

(B) Stratospheric ozone
(C) Tropospheric ozone
(D) Sulphate aerosols
(E) Black carbon

Choose the most appropriate answer from the options given below :
et 5 & F19-8 F0F divas 9906 o o0 TaeEn § -

(A)  EETEEA

(B) HAMIHSHE IAE
(C) HTGHEAE AT
(D) o5z TEE

(E)  =oteh e

A1 T2 U et B W HEE ST 39 R 999 a0

[Question ID = 1542][Question Description = 137_00_General_27_0CT22_Q37]
1. (A), (B) and (D) only

Fae (A). (B) 37 (D)

[Option ID = 6165]
2. (B) and (D) only

Fa (B) =7 (D)

[Option ID = 6166]
3. (B). (D) and (E) only

a4 (B), (D) #7 (E)

[Option ID = 6167]
4. (Cyand (D) only

Fa (C) 57 (D)

[Option ID = 6168]

33)  Which of the following are Sustainable Development Goals (SDGs)?

(A) Life below water
(B) TLafe on land

(C) Zero deforestation
(D) Clean water

(E) Clean Aar

Choose the correct answer from the options given helow :



fFefefas § 3 %99 #ed e we 2
(A) = F A= T

(B) HWW A=A

(C) 7=

(D) ===

(E) =9
% T T AT 6§ AE T 99T A

[Question ID = 1543][Question Description = 138_00_General_27_0CT22_Q38]
1. (A). (C) and (D) only

47 (A), (€) 57 (D)

[Option ID = 6169]
2. (B), (C) and (E) only

#ad (B). (C) 37 (E)

[Option ID = 6170]
3. (A)., (B) and (D) only

ae (A), (B) =i (D)

[Option ID = 6171]
4. (A). (B). (D) and (E) only

= (A), (B), (D) =7 (E)
[Option ID = 6172]

34)  India’s disaster management plan is based on

[Question ID = 1544][Question Description = 139_00_General_27_0CT22_Q39]
1. Senda Framework

[Option ID = 6173]
2. EKyoto protoeocl

T2 T2
[Option ID = 6174]
3. Rio summit

[Option ID = 6175]
4. Montreal protocol

e .

[Option ID = 6176]

35) Blue hydrogen is produced by process of



FafafEa o 8 e aiwa g =] wEeieE & SeTEA =l B Y

[Question ID = 1545][Question Description = 140_00_General_27_0CT22_Q40]
1. Electrolysis

[Option ID = 6177]
2. Steam reforming of natural gas or methane

TRERTe T A HEE A gar (= i)

[Option ID = 6178]
3. Steam reforming of Bituminous coal

[Option ID = 6179]
4. Steam reforming of lignite

T 91T gAW

[Option ID = 6180]
36) The NEP envisages the setting up of

e fovar <fifa e e i aieEeTn e 2

[Question ID = 1546][Question Description = 141_00_General_27_0CT22_Q41]
1. Regilonal Research councils

[Option ID = 6181]
2. National Research Foundation

T O TS

[Option ID = 6182]
3. National Research Commission

[Option ID = 6183]
4. National Research Regulatory Authority

T T TS T

[Option ID = 6184]

37) Which of the following are the advantages of distance education system?

(A) Free education for all

(B) Flexible system of education

(C) Encourages earn and learn approach

(D) No regular attendance 1s required

(E) High and complex method of knowledee acquisition

Choose the correct answer from the options given below :



Ty T T F #Y Fetena 9 A FE 6 57
(&) T = fon e o

B)  ToEm i g g

(C) =199 o T3 T I AIeATET

(B) FF-#5+ = 39 g Fieed 9l
#rr fou M0 o B W WA 39 99 T

[Question ID = 1547][Question Description = 142_00_General_27_0CT22_Q42]
1. (A). (B). (C) only

F9 (A), (B), (C)

[Option ID = 6185]
2. (B), (C), (D) only

= (B), (C). (D)

[Option ID = 6186]
3. (C). (D), (E) only

Faet (C). (D). (E)
[Option ID = 6187]

4 (A). (D). (E) only

Fa (A). (D). (E)
[Option ID = 6188]

38) Arrange the following in chronological sequences from the beginning to the last as per the
vear of their establishment

(A) Indira Gandhi National Open University

(B) Karnataka State Open University

(Cy  Yashwantrao Chavan Maharashtra Open University
(D) Nalanda Open University

(E) Dr. B.R. Ambedkar Open University (Andhra Pradesh)

Choose the correct answer from the options given below :

FefefEs 1 6 T & 99 § 990 909 8 A9 F FenheE 0 Sagid i

(A)  3fen e T gEe favataEes
(B) FAZF T 09 TEavataEeE

(C) Fvr=Ead =90 HarT= 590 [t

D) e g vt

(E) =i, .o, SEEE 0E avaiaeed (ananE)

i T2u 0 faeRet O W HEI 9 R =AT S

[Question ID = 1548][Question Description = 143_00_General_27_0CT22_Q43]
1. (A). (O). (D). (B). (E)



[Option ID = 6189]
2. (E), (A), (D), (©), (B)

[Option ID = 6190]

3. (B), (C). (A). (E), (D)
[Option ID = 6191]

4. (E), (D). (A), (B), (C)

[Option ID = 6192]

39) Which of the following statements are true regarding Takshashila?

(A
(B)
(©)

(D)

Indian Grammarian Panim had studied there,

Renowned Physician of ancient India Jivaka studied there.
Xuan Zang studied Yogashastra at Takshashila.

Chinese scholar I-Qing visited Takshashila in 7® Century CE.

Choose the most appropriate answer from the options given below :

AT % 91 H [Aeieed 9 8 % Tl J8l A 7

(A)
(B)
(C)
(D)

TTTE SFT A WA A g8 ASEE e 9l

TR WA ¥ GG faimead daw F F8 S99 e Al

TETI—FATT 9 AT IRTEE 1 25 = A1)

i o fagm s-for 4 7ol W E A | aaioren S = )

4 Tau . faweT ¥ W wER IE T H 99 A

[Question ID = 1549][Question Description = 144_00_General_27_0CT22_Q44]
- (B) and (C) only

Fae (B) #7 (C)

[Option ID = 6193]
2. (A) and (D) only

Fa= (A) 97 (D)

[Option ID = 6194]
3. (A), (B), (C) and (D)

(A). (B). (C) #7 (D)

[Option ID = 6195]
4. (A) and (B) only

Fam1 (A) 37 (B)

[Option ID = 6196]



40)

Match Last T with Tast IT :

List I List IT
(Name of the subject) (Domain)
(A) Shiksha (Il Metrics
(B) Kalpa (I) Interpretation
(C) Chandas (ITII) Phonetics
(D) MNImamsa (IV) Rituals

Choose the correct answer from the options given helow :

TE-LF w1 gE-1 7 fEee A
eI TEI-IL
(fama =1 ) (&)
(A forem @ =T
(B) F= (I) T= (graraor)
(€ == () == famm
(D) HmEn (IV) fia—far=

9 v o et B B TR I S 999 i

[Question ID = 1550][Question Description = 145_00_General_27_0CT22_Q45]

1.

2.

3.

4.

(A)-IID). (B)-(IV). (C)-(I). (D)-(II)

[Option ID = 6197]

(A)-(IV). (B)-(III), (C)-(ID). (D)-(I)

[Option ID = 6198]

(A)-(ID). (B)-(D). (O)-(IV), (D)-(11I)

[Option ID = 6199]

(A)-(IT0), (B)-(I), (C)-(II), (D)-(IV)

[Option ID = 6200]

Topic:- 11_GP_SH1_Set1_C

1)

Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly hiberated nations required
economic development. Rapid economic growth was required not only te raise lhiving
standards. but also to sustain a spirit of national selidarty. Such was the broadly accepted
consensus. which, however, admitted of variations in policies adopted or rejected by post-
colonial governments. Where communists were 1n charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mdustmal production. Yet agriculture remained in private hands. Some eountries left feudal
syatems of landholding intact: others gave ownership rights to tenants or sharecroppers.
There were also varations on the question of international trade and capital flows. Some
countries rigorously protected their own industres from external competition. erecting high
tariff barmers. Others adopted a more flexible trade regime, selectively permitiing foreign
goods and capital into thelr territery. An important factor in the history of modern Asian
nations is that of foreign policy, Countries governed by communist parties were allied with
the Soviet Union. while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chosze to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the
Americans,



TR =) 1 9190 UF 46-50 7F F T 1 Ieaw S0

71t 7l § 949 @A B @ U1 0 9EE o R e S TR sAieEad 291 6 i Fe B
TEP THRAZAT SN TS fen i s s ot 39 S R S 912 A 9 S 0 A aReiE
oft 7T STFETE e A A T s e A 8 avae # e e T e
| SEHT A " AR Gl ] wACENET TR T 94 T-greEnal 29 ¥ T SR 3e0ed § onEn
=i weEg e o) JAne F9 HF 29 H A w5 A A Y- B AEI T H1 Al e
TEE F oe § o G ot T 39 3 99 =9 F Iar o Ay 99 A glesl 7 e we S
few 2fis (were=r) 1 =1 # weatas gig =0 41 999 o9 A0aTE Aias Sl ST 86 S 9 A
@ 0 1 faas w4 w1 w4 w8 A e g 8wk w9 o st 4 s o e
% staem § vF wreayyl we fEE9 AT 2| 9nEEEl 2o W1 IEa 297 A S 99 F @y 91 # 96 E
S TS 29T A A T SHAER R WA S5 A | ] 59 e 29 i fars vl e wwea |
st gul T ot o TEn T 2 e WE T S T AT S eI S A E, A S F A
M5 TR TS T

The newly hberated nations needed economic development for

9 (/1 B §) T L T2 ) e B ehier iR fasre = stEveer 61 7

[Question ID = 1551][Question Description = 146_00_General_27_0CT22_Q46]
1. A broad political consensus

[Option ID = 6201]
2. Governmental contral

T |ﬂ£']4_[ r;[\ .q'-q |

[Option ID = 6202]
3. Rejecting some policies

[Option ID = 6203]
4. National integration

[Option ID = 6204]



2)

Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly liberated nations required
economic development. Rapid economic growth was required not only te raise hiving
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however, admitted of variations in policiez adopted or rejected by post-
colonial governments. Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture. family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mdustral production. Yet agriculture remained in private hands. Some eountries left feudal
svstems of landholding intact: others gave ownership rizhts to tenants or sharecroppers.
There were also variations on the gquestion of international trade and capital flows. Some
countries rigorously protected their own industrmes from external competifion. erecting high
tariff barmers. Others adopted a more flexible trade regime. selectively permtting foreign
goods and capital into their territery. An important factor in the history of modern Asian
nations is that of foreign policy. Countries governed by commumist parties were allied with
the Soviet Union. while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the

Americans.

Fertha Teer 1 92w vE 4650 7F F WA H I S0

7T 71§ 7 T R T S v F e W e i e s S s i e i
TP UHRERAT A T F AU i SRt SEveRAT 9| 58 ST R ST A2 AW 9 S 0 AT HERiE
HrETETEE] FOIEA AT GRS 6 TEEE A T A A Iehed sEiedl F 92w i e FerE
e (= e 11 112 i o e ) et o1 B e 2 2 s 1 B L = 3 ey B R e o e e o AR M o
i wg yfae o) war BT A7 B a5 F w0 FE ST 9 g-wiiar B S@ee v S el s
o1 ieam . = 2o 7 Femer aue weEEn = =iae @ atuwe 3 El i sme e e
TEE F mwe | o i offl T 5 3 99 =8 F 39 F1 eeg 290 A w7 wias wE F
fem 2w (W) i i § setes afg T AN o= o 3 e Siaw o S a9 B e S
T o Fel W AT G A A T A A g # e A s 2 sy i
% Stiem 9 UF GEeael gew fage Hiia 2| Al 9o gnl SN 990 A Sitgad 99 % @ 5] f F6ia
7 URTETE ST 7 9EF9 759 SHEE A1 96 H | WEAl 59 9iTeH] 39 6 A U a9 dEEE H
AT el T ot o T 7 T e e F aeE = e o e S a =, 9 A st F oo
Tt TR ST T |

In communist regimes. the aims of thelr core policy were to

{A) Eliminate the private sector

(B) Support family farms

(C) Accept different politico-economic initiatives
(Dy  Nationalise the industries

Choose the correct option given below
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[Question ID = 1552][Question Description = 147_00_General_27_0CT22_Q47]

1.

2.

4.

3)

(A) and (B)

(A) =7 (B)

[Option ID = 6205]
(B) and (C)

(B) =7 (C)

[Option ID = 6206]
(A) and (D)

(A) =7 (D)

[Option ID = 6207]
(C) and (A)

(C) =27 (A)

[Option ID = 6208]

Read the passage and answer below questions:

To end both mass poverty and political uncertainty., the newly liberated nations required
economic development. Rapid economic growth was required not onlyv to raise hving
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however, admitted of variations in policies adopted or rejected by post-
colomial governments. Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant rele in
mdustral production. Yet agriculture remained in private hands. Some countries left feudal
systems of landholding intact: others gave ownership rizhts to tenants or sharecroppers.
There were also variations on the question of international trade and capital flows. Some
countries rigorously protected their own industres from external competifion. ereecting high
tariff barrmers. Others adopted a more flexible trade regime. selectively permitting foreign
goods and capital into their territery. An important factor in the history of modern Asian
nations iz that of foreign policy. Countries governed by communist parties were allied with
the Soviet Union, while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not fo closely identify with either the Russians or the
Americans.
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The post-colonial governments preferred
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[Question ID = 1553][Question Description = 148_00_General_27_0CT22_Q48]

1.

4)

Political uncertainty

AR .HI i 3 _ﬂg:liia = ;!

[Option ID = 6209]

Broad policy consensus

[Option ID = 6210]

International trade

AT SR

[Option ID = 6211]
Rigorous external competition

[Option ID = 6212]

Read the passage and answer below gquestions:

To end both mass poverty and political uncertainty, the newly hiberated nations required
economic development. Rapid economic growth was required not only te raise hiving
standards. but also to sustain a spirit of national selidarty. Such was the broadly accepted
consensus, which, however, admitted of variations in policies adopted or rejected by post-
colonial governments. Where communists were 1n charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mdustmal production. Yet agriculture remained in private hands. Some eountries left feudal
syatems of landhelding intact: others gave ownership rights to tenants or sharecroppers.
There were also variations on the guestion of international trade and capital flows. Some
countries rigorously protected their own industres from external competition. erecting high
tarff barmers. Others adopted a more flexible trade regime, selectively permitting foreign
goods and capital into thelr territeryv. An important factor in the history of modern Asian
nations 1= that of foreign policy, Countries governed by commumst parties were allied with
the Soviet Union. while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the
Americans,
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In the case of foreign policy. Asian nations were
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1. Divided

i

[Option ID = 6213]

2. United

U"'i; B (ol

[Option ID = 6214]
3. Neutral
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[Option ID = 6215]
4. Tnclear

HEE

[Option ID = 6216]



5)

Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly liberated nations required
economic development. Rapid economic growth was required not only te raise hiving
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however, admitted of variations in policiez adopted or rejected by post-
colonial governments. Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture. family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mdustral production. Yet agriculture remained in private hands. Some eountries left feudal
svstems of landholding intact: others gave ownership rizhts to tenants or sharecroppers.
There were also variations on the gquestion of international trade and capital flows. Some
countries rigorously protected their own industrmes from external competifion. erecting high
tariff barmers. Others adopted a more flexible trade regime. selectively permtting foreign
goods and capital into their territery. An important factor in the history of modern Asian
nations is that of foreign policy. Countries governed by commumist parties were allied with
the Soviet Union. while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the
Americans,

Fertha Teer 1 92w vE 4650 7F F WA H I S0

7T 71§ 7 T R T S v F e W e i e s S s i e i
TP UHRERAT A T F AU i SRt SEveRAT 9| 58 ST R ST A2 AW 9 S 0 AT HERiE
HrETETEE] FOIEA AT GRS 6 TEEE A T A A Iehed sEiedl F 92w i e FerE
e (= e 11 112 i o e ) et o1 B e 2 2 s 1 B L = 3 ey B R e o e e o AR M o
i wg yfae o) war BT A7 B a5 F w0 FE ST 9 g-wiiar B S@ee v S el s
TEE F mwe | G offl T 3 3 99 =8 F 39 F1 ed 290 A aiewd] ¥ wiEe wE F
fom 2w (were) i B aetas afg T 4@ o= o 3 e Siaw o S a9 B e S
o7 5 5 Tl W A A T A A g # W A s 2 smy i
% Stiem 9 UF Eeadnl g fage Hiia 2| AEEel g gnl SN 990 A Siaad 99 % @ 5] 6 F6ia
31 TS <9 A 9EF 1S9 S F 9 5 | WEhl 59 uiegd! 39 6 =g v a9 ] gaEd o
AT el ot o 29 7 e e e = e S e S a =, T A i F ooy
T TEEA ST T |

The passage attempts to analyse in respect of newly liberated countries
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[Question ID = 1555][Question Description = 150_00_General_27_0CT22_Q50]

1.

2

3.

Their post-colonial politico-economic policies
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[Option ID = 6217]
- The need for protectionism in the global market
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[Option ID = 6218]
The importance of non-alignment
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[Option ID = 6219]



4. The henefits of Western capital
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[Option ID = 6220]




